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QUE:-1 Choose the most appropriate option for the following, (10)

(1) At a given temperature, if activation energy s high then rate of reaction will be
(a) medium (b) fast (c) Slow  (d) Very high

(2) Maxwell's distribution of molecular energies explain the effect of on
reaction rate.

(a) pressure (b) Concentration  (c) temperature (d) catalyst
(3) A chemical reaction which occurs in more than one step is called

(a) Redox reaction (b) simple reaction

(c) complex reaction (d) precipitation reaction

(4) The symmetry number for HCL and CO;,is and__ respectively.
@ L1 (b)y 1,2 (¢ 1,2 ) 2,2
(5) The rotational energy of the molecules depends on the

(a) molar mass (b) moment of inertia
(c) Stiffness of the bond (d) size of container
(6) The three dimensional thermal energy for 'n' moles of gas in terms of
(a) nRT (b) 3/2nRT (c) 3/2RT (d) 1/2nRT
(7) Lower viscosity of the solvent usually gives Chromatography efficiency.
(a) lesser (b) Greater (c) same (d) bothaandb
(8) The length of the column used in HPLC is usually cm long. .
(@) 5-10 (b) 10-30 (¢) 30-40 (d) 40-50

(9) Masking agent is known as
(a) Sequestering agent (b) Synergetic agent (¢) Salting agent (d) All of these
(10) Which of the following technique is used when distribution ratio of solute is law?

(a) Batch extraction (b) Counter current extraction
, - (¢) Continuous extraction (d) All of these
- QUE:-2 State whether the following statements are true or false, (83

(1) The ratio of the rate constants of a reaction at two temperatures differing of 10°C is
Known Maxwell distribution constants.
(2) Arrhenius parameter is Ea and K. ‘
(3) The distribution molecules in various allowed energy levels is governed by
Boltzmann distribution Jaw.
(4) Pump is heart of HPLC.
(5) Electrochemical detector is Universal. .
(6) The temperature co-efficient of the reaction may be expressed as the rate of two
Rate constant.
~(7) Higher molecular weight alcohol are generally added in aqueous phase to favor
Solvent extraction.
(8) The process of liquid extraction is influenced by PH and Oxidation state.
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Que:-3 answer the following in very short. (Any ten) 20)
(1) Calculate the time required for a reactant to decrease its concentration to 10% form
Its original value. If K for reaction is 5x10™ sec’.
(2) Explain Cage effect.
(3) Discuss the effect of catalyst on rate of reaction.
(4) Give the important of Boltzmann distribution law.
(5) Calculate rotational thermal energy for 4.4 gm CO, at 100°C, (R=8.314))
(6) Derive an equation for rotational thermal energy.
(7) Explain used pump in HPLC,
(8) Give characteristic of detector used in HPLC.
(9) Explain Column of HPLC.
(10} Write the advantages of solvent extraction,
(11) Give classification of solvent extraction on the basis of the behavior of the system.
(12) Explain 'Batch extraction.

QUE:-4 Attempt any four from the following. (32)
(1) Discuss the kinetics of opposing reaction in which first order is opposed by first
Order, - '

(2) Discuss the kinetics and mechanism of chain reaction H, (g) + Br; (g) ---- 2HBr (g).

(3) Derive the expression for partition function of vibration motion and rotational
motion Molecules.

" (4) Derive equation for thermal energy of vibrational motion.

(5) Discuss UV-detector and electrochemical detector used in HPLC.

(6) Give brief account of choice of supporting materials for separation in HPLC.

(7) The distribution ratio for s compound between CS, and water is 8. When 800m]
Aqueous solution congaing 10gm of compound is extracted with 100ml CS,. Then
Calculate the amount left unextracted. _

(8) Discus briefly the various factors that are responsible for affecting the process of

Extraction. :
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nad:-q Al el [Aseynial Kol [sey uie s, (10)
(1) 2utlal diynid ox al3as0, G el dHIR SiAL dl vl wialdl 4o 2.
(a) ¥ead  (b) »ssuil (c) Hl4l (d) viot a4z

() Hsudadl [Aaadl [Aun sl Gat ur ulsa domi_ -l vir auemd 9,
(@) sen (D) Aigdl (¢} M (d) GElus

(3) ol 20u(Bis UIEUL Bls 21 ARIR dotssidl A de, 56 6,
(@) 2 ulz (b) il uiku (c) wslen wlsa (d) a8iuqd ulsal
(%) HCL 214 CO2 vl w[Hfd wil Vs ¥ 8.
@11 (12,1 (¢ 1,2 @ 22
(5) -l ‘l&%mﬁgl}t Gyl MR wHR AW .

(@aMiax  (b) srscadlasm () oifdl sysdiur  (d) WL 58 uR

~(B) 515 waL A 'n' e W2 RuRuiola ot wlsd 2l aaly ald__ g 8.
(8) nRT (b) 3/2nRT (¢) 3/2RT (d) 1/2nRT

(7) crasll 2lied) Reoticiel) dimtedd: sihcimgldl amar,

(@) sl u (b) 9l (c)ozedl 44l (d)awdbold
(8) HPLC #i quRld) 2edei-l dous amiead: - Al dia 8.
. (2)5-10 (0)10-30  (c) 30-40 (d) 40-50
@) wiréh oz adly vl B,

(a) Risdzedlo visy-2 (b) &ll-zsyels vieyz
(c) ullézaL vUG2 visyz  (d) UL ciHlsy
(10) 554 grede] [Adze e Gid AR 58 wrrld-dl Guidl sealmi 219 8,
(a) ol [Absdu) (b) 51622 532 [Avsiil (c) Add [esiiy (d) 2l dHw
- A2 UL (Gl WL 9 5 izl 6 d eypudl . (08)
(1) 100C L djteldell 6 6YEL 6YEL diUHLel €3 NSl ABIdRA Hsudd, [Ad vy s8aud S,

(2) Ea ¥4 K wlra-{lu dzidlez 9.

(3) oyel oyl elR hPlle [AdW st olicerul Ao [Ramel uumdl usiy 9.

(4) HPLCHI Yy 4 ged s8I 8,

(5) deszi-5{isa edls 2 vrieoild ©.

(6) cAlumiel AoUsL UEALAL 6 oL 2UANTSA YelAL RIAR 93 el wUd 8,

(7) glats [Assml aHIRL s394 W2 QHIR AR HA1LAAL 2Uesidig, sydl rkiHnl GHRAML »ud 8,
(8) ualllaticil [Aegtinidl uenfd PH vt 20BEu304 viazet ud weldd 8.
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Ukl 1 3 25U a0l g, (20)
(1) S uBil K = 5 x104 sec! G di vl aicdrell 10% Al 4213l 4a] WP Qoid] uHa a8l
(2) cage ©§s2 UHmAl,

(3) s 4oL uR GElus] »iu unomdl,
(4) cliceotid, ARl [Rame, Heed wamdl,

(5) 100° C diuuid 4.4 i CO» IZ Glwa Govied] oL} 53,

(6) uRawsusila G ol w2 wuslsul dlzdl.

(7) HPLCH{ qu2ldl Yy Husudl,

(8) HPLC Hi 4uRLd) €45t ol syl

(9) HPLCAL Sl aiusydl i,

(10) qacts [LbsRLell $14EL svplcl,

(11) uRuell-ll Sania 2R qlas Rl aoflsze syl

(12) ' ol fvsdgedl wmsydl oudl,

Uae 2 4 Al wuidamial SIS ww ARAL sraiol @i, (32)

(1) nan s Qb wam suqdl wia Wl ulad afdld 2 53,

(2) H2 (g) + Brz (g) -— 2HBr (g) xiso Wi o) =47 BBl 22 531

(3) =i sriaL wadl 2niladla ol dun uikemola Af w2 A (Al geiadl ueiald dirdl.

(4) ligld- oA wiZ Gy Goie Aflsrul dwrdl,

(5) HPLC i 4uidl wiraisiel]l wid dlsyriaiafis edsl 221l 53,

(6) HPLC i waoilsag 112 quzldl AdiEo alzfacaidl uzieofl-d 2= 431,

(7) [dzmil R vl i AHAAL dell Al Walel o),
CS2 uid mg’l A2 *floyeiedl Al oeildz 8 .10 W wilisyet 500 mi syl auul 100 ml CSy wld
[0 52l 209 AR Fissfil o iRl sreedl o),

(8) [sstluil w14z sl syel ayel wRuiall sviuel] duell wnisydl winl,

(g0




